
 
Prove that 

𝐈 = ∫ ∫
𝐲𝐥𝐨𝐠(𝟏 + 𝐱𝐲𝟐)

𝟏 − 𝐱𝐲𝟐

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 = ∫ ∫
𝐱𝐥𝐨𝐠(𝟐 − 𝐱𝟐)

𝟏 − 𝐱𝟐𝐲

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 =
𝐚

𝐛
Ϛ(𝐛) 𝐥𝐨𝐠(√𝐛

𝐛
) −

𝟏

𝐛
Ϛ(𝐚) 

For: 𝐚, 𝐛 ∈ 𝐙+ and 𝐆𝐂𝐃(𝐚, 𝐛) = 𝟏. Find a,b. 
 

Proposed by Bui Hong Suc-Vietnam 
Solution by Togrul Ehmedov-Azerbaijan 
 

I = ∫ ∫
𝐲𝐥𝐨𝐠(𝟏 + 𝐱𝐲𝟐)

𝟏 − 𝐱𝐲𝟐

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲]

𝐱𝐲𝟐=𝐦

=
𝟏

𝟐
∫

𝟏

𝐱
∫

𝐥𝐨𝐠(𝟏 + 𝐦)

𝟏 − 𝐦

𝐱

𝟎

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
 

𝐈𝐁𝐏

=

𝟏

𝟐
[𝐥𝐨𝐠(𝐱) ∫

𝐥𝐨𝐠(𝟏 + 𝐦)

𝟏 − 𝐦

𝐱

𝟎

𝐝𝐦]

𝐱=𝟎

𝐱=𝟏

− ∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱] = 

= −
𝟏

𝟐
∫

𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 = −
𝟏

𝟐
{Ϛ(𝟑) −

𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐)} = −

𝟏

𝟐
Ϛ(𝟑) +

𝛑𝟐

𝟖
𝐥𝐨𝐠(𝟐)

= −
𝟏

𝟐
Ϛ(𝟑) +

𝟑

𝟒
Ϛ(𝟐) 𝐥𝐨𝐠(𝟐) = −

𝟏

𝟐
Ϛ(𝟑) +

𝟑

𝟐
Ϛ(𝟐) 𝐥𝐨𝐠(√𝟐) ⇒ 𝐚 = 𝟑; 𝐛 = 𝟐 

𝐍𝐨𝐭𝐞: ∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 = Ϛ(𝟑) −
𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐) 

𝐈 = ∫ ∫
𝐱𝐥𝐨𝐠(𝟐 − 𝐱𝟐)

𝟏 − 𝐱𝟐𝐲

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 = − ∫
𝐥𝐨𝐠(𝟏 − 𝐱𝟐) 𝐥𝐨𝐠(𝟐 − 𝐱𝟐)

𝐱

𝟏

𝟎

𝐝𝐱]

𝐱𝟐→𝐱

= −
𝟏

𝟐
∫

𝐥𝐨𝐠(𝟏 − 𝐱) 𝐥𝐨𝐠(𝟐 − 𝐱)

𝐱

𝟏

𝟎

𝐝𝐱]

𝐱→𝟏−𝐱

= −
𝟏

𝟐
∫

𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱

= −
𝟏

𝟐
{Ϛ(𝟑) −

𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐)} = −

𝟏

𝟐
Ϛ(𝟑) +

𝛑𝟐

𝟖
𝐥𝐨𝐠(𝟐)

= −
𝟏

𝟐
Ϛ(𝟑) +

𝟑

𝟒
Ϛ(𝟐) 𝐥𝐨𝐠(𝟐) = −

𝟏

𝟐
Ϛ(𝟑) +

𝟑

𝟐
Ϛ(𝟐) 𝐥𝐨𝐠(√𝟐) ⇒ 𝐚 = 𝟑; 𝐛 = 𝟐 

 


